SUBSTITUTION   (7.1)




NAME____________________________






For each integral decide which of the following is needed: 1) substitution, 2) algebra or a trig identity, 3) nothing needed, or 4) can’t be done by the techniques in Calculus I. Then evaluate each integral (except for the 4th type of course).

A.
[image: image1.wmf](

)

3

1

xdx

+

ò



          
[image: image2.wmf](

)

4

23

1

xxdx

+

ò


                     
[image: image3.wmf]3

1

xdx

+

ò



      
[image: image4.wmf](

)

2

3

1

xdx

+

ò


B. 
[image: image5.wmf](

)

2

1

xxdx

-

ò


           
[image: image6.wmf]2

1

xdx

-

ò



        
[image: image7.wmf]2

1

1

dx

x

-

ò



      
[image: image8.wmf]2

1

xdx

x

-

ò


C. 
[image: image9.wmf]23

cossin

xxdx

ò


          
[image: image10.wmf]2

1cos

xdx

-

ò



        
[image: image11.wmf]2

cos

dx

x

ò



                
[image: image12.wmf]cossin

dx

xx

ò


D.
[image: image13.wmf]tansec

xxdx

ò

 
          
[image: image14.wmf]tancos

xxdx

ò



       
[image: image15.wmf]2

sec

tan

x

dx

x

ò



   
[image: image16.wmf]tan1

dx

x

+

ò


E.
[image: image17.wmf]2

x

edx

-

ò



          
[image: image18.wmf]3

x

x

e

dx

e

+

ò



      
[image: image19.wmf](

)

3

x

edx

+

ò


              
[image: image20.wmf](

)

2

2

ln

x

e

dx

x

ò


PAGE  

_1048921978.unknown

_1048922469.unknown

_1277061080.unknown

_1291227913.unknown

_1291227813.unknown

_1197441527.unknown

_1197441559.unknown

_1048922652.unknown

_1048922333.unknown

_1048922396.unknown

_1048922434.unknown

_1048922362.unknown

_1048922105.unknown

_1048922191.unknown

_1048922242.unknown

_1048922154.unknown

_1048922070.unknown

_1048921833.unknown

_1048921977.unknown

_1048921511.unknown

